
Quick Installation Guide
AirGo® All Terrain

ATTACH 
SUBASSEMBLIES

Position subassembly between the fan 
tubes. Raise it to the bottom flange of the 
side mounting bracket, and secure with 
the provided hardware. Repeat on other 
subassembly.

Align three holes in the side brace with 
the holes on the caster pad. Attach side 
brace to caster pad. Do not fully tighten 
the nuts until all bolts are in position.

Ensure the center-to-center distance 
between the rod ends of the steering 
cross-link is 86.5 in. (2197 mm). Attach 
cross-link to the brackets in the corners 
of the axles. 

SECURE  
SIDE BRACES1 2 ATTACH STEERING  

CROSS-LINK3

1

2

3

Support fan with at least four jack stands so that it is raised at least 10 in. (254 mm) to allow clearance during installation. 
Make sure fan is disconnected from power before beginning installation.

3/8-16 Nylock Nut

3/8-16 Hex Nut

READ AND SAVE THESE INSTRUCTIONS

Two personnel are required 
during installation!

3/8-16 Nylock Nut

1/2-13 Nylock Nut

X2
3/8 in. Flat Washer

X4 X2

1/2 in. Flat Washer

1/2-13 x 1-1/2 in. Bolt

1/2 in. Flat Washer

3/8-16 x 1-3/4 in. Bolt

3/8 in. Flat Washer

3/8 in. Flat Washer

3/8-16 x 1-1/4 in. Bolt



WWW.BIGFANS.COM     © 2018 DELTA T LLC     ALL RIGHTS RESERVED.

Operating Instructions and Maintenance:

bigfans.com/support

AIG-INST-215-ENG-02   REV A   09/06/18


